
Name __________________________ 

Solving Number Puzzles: Find the Missing Factor 

Unit 2 Module 2 Review 

 

___ x 8 = 40 is the same as 40 ÷ 8 = ____ 
Skip count by 8’s until you get to 40 

 
How many times did you skip count by 8’s? 

 
You skip counted by 8’s 5 times! 

Therefore,  5 x 8 = 40 

Draw loops of 8... 

 
… until you 40 x’s 

 
How many loops are there? There are 5 loops! 

Therefore, 5 x 8 = 40 

 

Solve: 6 x ___ = 42 

Skip count by 6’s until you get to 42 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many times did you skip count by 6’s 

Draw loops of 6’s until you get to 42 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many loops are there? 

 

Solve: ____ x 4 = 16 

Skip count by 4’s until you get to 16 

 

 

Draw loops of 4’s until you get to 16 

 

 



 

 

 

 

 

 

 

 

 

 

 

How many times did you skip count by 4’s 

 

 

 

 

 

 

 

 

 

 

 

How many loops are there? 

 

Solve: 3 x ___ = 27 

Skip count by 3’s until you get to 27 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many times did you skip count by 3’s 

Draw loops of 3’s until you get to 27 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many loops are there? 

 

Solve: ____ x 5 = 20 

Skip count by 5’s until you get to 20 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many times did you skip count by 5’s 

Draw loops of 5’s until you get to 20 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many loops are there? 

 


